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A & 0l & AF 2 E A A
20208 & =0l & L BHSIH THR
SM: HPD
g WEEY & THab2ed
& A2 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
TH < 2t 3,688,262 15,621,760 A 11,933,498
HEEH L Hatze 3,260,027 15,368,847 A 12,108,820
3 A 2el 41,550 44,117 A2,567
Her ¥ Zakzte 41,550 44,117 A2,567
201 L2l 39,911 42,478 N 2,567
01 At 22l 39,911 42,478 A 2,567
OZ8AN & BREHMF M 10,300, 000& 10,300
ONY - MiEZ4tet AISTEEEN M
2,400,000 2,400
OFAHNZEY OIMEZEH EUY
2,650,000 2,650
O3lAHAMZ HoIH 2 5,000& *300H 1,500
O2H3EXN 2= 250,000 250
OZ&MTARE 100,000 »3H 20 6,000
OxZ&d GB 0l 20,0003 x1024 128 2,400
OQASHEZI (S HA) M2
5,000,000& »1H 5,000
O=& R&E ct¥ M 1,250% =1, 3604 1,700
ORFID eIl RANE= 3,103,000& 3,103
OHALUE HEIMAAE RS>
384,000& x12& 4,608
202 044l 739 739 0
01 SLHOIYI 739 739 0
OXgHEHZ &g Kl
20,000 x1H x5 100
OZ 4 ARIE =0 213,000& »3H 639
203 ¥ S =&l 450 450 0
03 AIZ=AH R =AH| 450 450 0
OZ4 g2=2 450,000& 450
307 glz2+ol & 450 450 0
12 QI+ ol 2 & =] 450 450 0
OZ&AARIE W=H| 150,000 =3 450
SSEMA 2tel 735,485 743,519 A 8,034
SHEMA MEHEAL & 22 27,720 27,720 0
201 L2l 27,720 27,720 0
01 At 22l 25,595 25,595 0
OZ2"7Me 2229 25,595
Egrr2 18,000, 000& 18,000
ZEEI =2 6,400,000 6,400
2HE o822 700,000& 700
22T 2 DA HE 495,000& 495
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25 M
3 THEZS L Watze
el BRI el (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
02 3524l 2,125 2,125 0
oRbz 2,125,000 2,125
FTHEXE SHEE 120,000 106,000 14,000
201 et Y| 120,000 106,000 14,000
02 =329l 120,000 106,000 14,000
OHEANEE MHol=+ S M Hl 58,600,000 58,600
OgX2t4a sHSHI 61,400,000& 61,400
sshHE 29 587,765 609, 799 N 22,034
201 et A | 358,765 376,799 N 18,034
01 AtR 22l ] 4,340 3,340 1,000
QaAIXS WEH(EdHZ2, =XU2)
120,000& =128 1,440
OEEXY 2d3HIx=xE 400,000& *23| 800
OsEXE M2 2HIEx+=+=Z 150,000 x14LH 2,100
02 3524l 354,425 373,459 AN 19,034
OX S IHA 3,584
SssSUHE 350, 000& =2LH 700
SE25E 100, 000& ~2LH 200
s838 65,000& *12CH 780
SEUSHEY 350, 000& =2LH 700
SsgEUE 110, 000& *1CH 110
SEE=d 60, 000& *5CH 300
s2EEUd 80,000& =1CH 80
=z 30, 000& *5CH 150
- SIE2EEAE 28,0002 x130H 364
Ex+Z20lsx2l Xt 100, 000& =2CH 200
OXNsSXHEE= 27,960
SssSUHE 350, 000& =2CH 700
SE25E 500,000 *2CH 1,000
s838 300,000& = 12CH 3,600
SSEUSHE 350, 000& =2LH 700
SEEUE 400,000& = 1CH 400
SEE=8 380, 000& *5CH 1,900
S0 E 470,000 *30H 1,410
=z 350, 000& *5CH 1,750
- SIE2EEAE 500,000& =18CH 9,000
Ex-ZFAX 500,000& «11CH 5,500
ExEZEZIFaR 500,000 *3CH 1,500
Ex+Z20lsx2l Xt 250,000& *2CH 500
o=t 2 5,050
SEU=HE 140, 000& *1CH 140
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2M: M
HE: WHIY L el

ool Zoama @el (ol @)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
SEEsE 140,000& *2CH 280
st=sUdE 390,000 = 1CH 390
J=2E=E 150,000& =8 CH 1,200
- SEELE 140,000& =8CH 1,120
SXZ2FALX 350, 000& =3CH 1,050
SEx-ESTEI 240,000& =204 480
ExS0lsxcl Xt 390,000& = 1CH 390
OXts xH2=2l gl 83,500
SEUE 1,000, 000& *2CH 2,000
s838 300, 000& *2CH 600
SE2ZE 600,000 =12CH 7,200
SEUSHE 800, 000& »2CH 1,600
SEsE 4,000,000& = 1CH 4,000
SEssE 800, 000& *50H 4,000
SI=EUHE 1,200,000& »3CH 3,600
=z 1,200,000& *x5CH 6,000
- SEELE 1,000,000& = 18CH 18,000
ExSHALI 2,500,000 =11CH 27,500
Ex83421 2,000,000& =3CH 6,000
ExE0ls=cl Xt 1,500,000& *2CH 3,000
OXs A 24| 234,331
SEUE(FLR) 1,475.11&%3,1004 =2CH 9,146
SESE(HEI) 75& *1,500kwh*2CH 225
S2ZE(3LYR) 1,475,113 +x7004 =12CH 12,391
S2HE (D) 75& *1,300kwhx1CH 98
SEUSHEY(HSE) 1,340.56@ %5504 *20H 1,475
SS2UHE(ESR) 1,340.562%5,0004 =1CH 6,703
SSEFTE(ER) 1,340.56@%2,0004 =504 13,406
SISEUHE(ZESR) 1,340.562 %1,5004 ~30CH 6,033
SISEFTE(ZES) 1,340.56@ %1,0004 504 6,703
SISEEALAE(ER)
1,340.56& *2,000¢ *180H 48,261
EXZHAINESR)
1,340.56& *8,000¢ *11CH 117,970
ELEZTTLEEN(ER)
1,340.56& *x2,0004 *3CH 8,044
ELESTTLASNARANN(FER)
1,475.11& %3004 *3CH 1,328
Ex=20s22HER)
1,340.56& *9504 *2CH 2,548
405 XtabF SHI 229,000 233,000 A4,000
01 AL 2B F SHI 229,000 233,000 A4,000
[@PNE=FMx| 229,000




5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- AUSEXN SEUHE 45,000,000 »1CH 45,000
CANAXUI ELE0S2R
120,000, 0002 = 1CH 120,000
IS EH F=ELE 20,000,000 = 1CH 20,000
dIItsH sE5E 44,000,000 = 1CH 44,000
EAtztel 2,153,441 14,364,691 A 12,211,250
AFGHT RI2E AL HEY 1,253,000 13,500, 000 A 12,247,000
201 Zet24E] 100,000 0 100,000
01 At 2t 2l 100,000 0 100,000
OFA 0ld HIE & 100,000, 000& 100,000
401 Al HI L 2 THYI 15,000 13,500,000 13,485,000
03 Al 2 THHI 15,000 0 15,000
Og= &Hl & 24l 15,000, 000& 15,000
405 XHobF S HI 1,138,000 0 1,138,000
01 AL ESFH S 1,138,000 0 1,138,000
O&JIs & 88 7¢ 1,138,000, 000& 1,138,000
HAAIE | 161,030 44,000 117,030
401 Al HIZ 201 Y] 161,030 44,000 117,030
01 A& HI 161,030 44,000 117,030
Oz -2 93 UREM & 22X
10,530, 000& 10,530
OFEA &8 AlE FHHI 18,000, 000& 18,000
Oz -g8a d2I| HM2FHl 7,000,000& 7,000
OFAL BI|etdEzd 224 15,000, 000& 15,000
OTREAL AFS A THEHXI 2t S At
72,000,000& 72,000
OMEII=IE AIRA A2 FHl
38,500,000& 38,500
MR - B 280,558 270,691 9,867
201 L2l 236,252 234,497 1,755
01 At 22l 86,872 78,332 8,540
OHAES 720,000& 123 8,640
Oztaa 2tel 28,376
SHEX 825,000 128 9,900
S E & 8,400 361 x12& 3,629
EHIIME X 8,400 x580 128 5,847
E=E=ON 25,0003 30 A +128 9,000
OJIHA & 22 720
M S 30,0002 20 & +12& 720
OR4=XE CCTV Xt 263,000& »12& 3,156
OJIAA S8Y22A L= 140,000& »2H 280




SN WD
Hu: WIIY L Wz
2+

=i M=

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OJIAH & S22 S4 8,000& x2H 120 1,920
OFAN BEF=IE =XNE NS 3,300,000& 3,300
OFA 2 2824 400,000 53| 2,000

P2E ARA(SEXNEHY) A & 2e
1,760,000 ~6& 10,560
OEEAEE X 1,320,000& «6& 7,920
OFEA THHIXI OIAIEH 20,000, 000& 20,000
S229H| 149,380
O3 &4 3,600& *250E *x23| 1,800
OH= KX B 41,338
=2 3,839& 4 ,215m 16,182
H1g 2 3,839& x3,686m 14,151
Al 2t 1,017& 1,427 m 1,452
H2g 2t 2,953 & x622m 1,837
- HI3g 2 2,953 *701m* 2,071
o 3| 2,953&3 x1,277m 3,771
MOI2 S 3,839& 488 m* 1,874
o2& - gz S S
5,000,000 *80% 4,000
OdHE ReldLsr 849 2,000,000& 2,000
OAHE AR A HIEEA 4,000,000 4,000
OZAIINA ALS 52,900
AP HetgE E A DPA 370,000& 130 48,100
- AUWAE 400,000 x12& 4,800
OFAN DNERLEE= 3,000,000& 3,000
O - ot = 19,720
- & A 1,560,000& =128 18,720
MOISSSHAIR A 1,000, 000& 1,000
OMOIZSZSEHMAIR2A H3tx E4A 190,000 190
ORoAHIEYG 2 12,600
MOIS S AR A 200,000& 128 2,400
- 9l g 250,000 x12& 3,000
- Ml2g 2 300,000& x12& 3,600
- MI3g 2 300,000& 128 3,600
Os2)| otd&elai(esl, A)
105,000& *20 | x12& 2,520
ORE AN Agtor™ate| XHE 3l i
48,0003 *3H x 13| 144
oA &y &4 1,000, 000& *23] 2,000
Odsg e Asx=x2 264,000 128 3,168
203 &R =&H| 500 500 0
03 Al F=X R =XH| 500 500 0
OFAMNZL SRF=X 500,000& 500

_5_




2EAM: R
M MEEH L THat2el
el HAzEl (el @2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
301 LEHZ 43,806 35,694 8,112
0B A =R RAB A4S 43,806 35,694 8,112
O3lH & FArze gREX 43,806
== 540,900 x5 «128 32,454
= A 6,000 x5 x222 «12& 7,920
wSHl 2,600 x5Hx22 x 122 3,432
AMSET H2E AL AIEE 22| 458,853 0 458,853
201 Let24d] 223,017 0 223,017
01 AP 2teltl 38,200 0 38,200
OFA 22| 3 700,000& *x10& 7,000
Ostaa 2el 3 2,000,000& x10& 20,000
O&=D 2z 50,0003 4CH+102 2,000
O AL Y| 2,000,000& 2,000
ORI AHIAIAE 600,000 122 7,200
02 3323l 184,817 0 184,817
O&IIe3 10,000,000& 10& 100,000
Odot+=E= 1,500,000& 102 15,000
OYitel T AIDbA 300,000& 130 39,000
OdJI|etE e B2 800,000& »12& 9,600
OsZI| el = 400,000& 123 4,800
Odadl(HIaEAI) 500,000& 500
CLSRERFES 5,000,000& 5,000
OCHERXN E= 1,017&%10,734m 10,917
301 LEEXF 15,836 0 15,836
0B M ERRIABAS 15,836 0 15,836
OFAMZL MI=ER2R2(29) 15,836
== 488,200 x2H «10& 9,764
S Al 6,0003 x2H 222 108 2,640
Sl 2,6003 x6H 22U x10& 3,432
307 glz2+ol & 220,000 0 220,000
05 RIZHRI &t 3 220,000 0 220,000
OAlgztel s ES9l 220,000, 000& 220,000
HYSAY 29 329,551 216,520 113,031
SAAIE 22 302,753 169,635 133,118
201 L2l 180,553 169,635 10,918
01 At 22l 3,870 3,870 0
OHESHEH ABF 3,870
St SAESI B3
100, 000& *3CH *90% 270
SAAIE 22X 2,000,000& »23] x90% 3,600
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2N
X ZH -
L= B

el

23
HEw o el
HENY 2Y

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
02 3524l 176,683 10,918
Osae3 139,200
ULEXNG 23 99,000
- 2 BHA S} 1,750,000 ~12& 21,000
- |SDN 1,500,000& «12& 18,000
- Ol Yl &St 5,000,000& x12& 60,000
OlssSa 23 4,800
-EUE 22 51,000& =40 12& 2,448
-SHE =2 65,000& =20 12& 1,560
-RANEE 22 33,000& =20 12& 792
Nz MEIH 23
25,000& *283| & x12& 8,400
- 22X AKX (SMS) 22 2,000,000& =12& 24,000
B UTVR 2 250,000& 128 3,000
OSAANE A -E= 32,083
HESAS S2ACAIAE
131,558,000 *6% 7,894
OlEful M3 AIAE] 196,973, 900& *3% 5,910
[PE 31D 218,000 *260CH *6% 3,401
DAL S| 300, 000& *3CH *6% 54
- 5394l g A 25,550,000 *6% 1,533
S Y AENA YrEAH| 27,597,200 *6% 1,656
3o al g 65,131,640& *6% 3,908
02l gt & &yl 9,420,000 *6% 566
st2ats | 8,900, 000& *6% 534
AFEE 2 AFEH| 36,219,500 *6% 2,174
LEDX™ X} & %= 94 29,862,000& *6% 1,792
SEEMEIAEX 13,263, 000 *6%*83% 661
FUHSAEE X222 2,000,000& 2,000
OR2HtY s#HEEM3 AMHIA AFEZ 5,400,000 5,400
401 Al HI L 2 0HHI 120,000 120,000
01 A& HI 120,000 120,000
Oa A2t GAaSHANAE 25 120,000, 000& 120,000
405 XtabF S| 2,200 2,200
01 JHMY = EF S HI 2,200 2,200
OBR2HtY sHENM3 AMHIA HOIEHO AUl F#
el 2,200,000& 2,200
BEA AISEZAF TR MHHIA 1,000 0
201 Bt A H| 1,000 0
01 A2 22| 1,000 0
OANEHZ A &Y A 1,000, 000& *13] 1,000




2M: MR
I WIS L etz
Sl BISAY 2Y CERED
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
SUHZENSEZE 29 25,798 25,885 N8BT
201 £et23E | 25,798 25,885 N8BT
02 22| 25,798 25,885 ~87
OSUBENEER 29 25,798
SAFENLEER 2% 293
25,798,000 25,798
HY2HZH (MR ) 428,235 248,754 179,481
|22l 104,940 21,400 83,540
Jl=23dHl 104,940 21,400 83,540
201 2erE= S 16,740 17,200 A 460
01 At 22l bl 16,740 17,200 A 460
OFM2g=+8H 8,100,000& 8,100
OJlzges-d =&l 8,640,000& 8,640
202 Ol 84,000 0 84,000
01 =LHOIHI 84,000 0 84,000
OJlzge==d0t 84,000,000 84,000
203 2R =&Y 4,200 4,200 0
04 FANE2EE =AY 4,200 4,200 0
OFN2gE2FAH 4,200,000 4,200
el=l 2l 323,295 227,354 95,941
el 2l 323,295 227,354 95,941
101 @124 8] 323,295 227,354 95,941
02 JIEt X E =+ 115,604 31,193 84,411
Osdd uad 32,716
As 21,844,000 =1 21,844
hE=g 80,000 x12& 960
S+ANfg
1,654,000 x35A1 2+ /40 Al 2t xB4%*5%+ 12 730
S 2 A4l 145,000 *35A1 2H/40AI 2t + 128 1,523
A g A 130,000& 12 1,560
CEUIRSE 8,770& »30Al 2t 12 3,158
- SOE A
1,654,000 84%*86%+1/30%1/7x70Al 2 399
J2RY 282 25,417,000 % 10% 2,542
OFAMZAH AL M (0LZ)(3Y) 82,888
l2s 1,524,340 » 11«3 50,304
It ESH 40,0002 x 112 »38 1,320
S+Ne+g
1,524,340 x7/8%84%x5%+ 112 »3H 1,849
S 2 X 125,000 #7/8+11& 3 3,610




SM: HPD
B #N2ABY (WD)
chel: ol 2y (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
& Mz AlH| 130,000& 113 »3H 4,290
T2 8, 7703 «40AI 2t 118 +3H 11,577
tHere sl 50,0008 *7/8+ 118 x3H 1,444
o4t &
1,524,340 x86%*84%+1/30%1/7+90 Al 2t +3H 1,416
ey B8x 21,393,000& »10%*3H 6,418
o=l 660
- &Y= 140,000& 3% 420
- 23 40,000 *3H »23] 240
03 I AHA2ZZ2RHE > 207,691 196, 161 11,530
OFAE A 2tel 207,691
- Jl2=2(388) 2,144 3602 x6H 123 154,394
FHsg 2,880
-EE 40,0003 x6H x 128 2,880
Scl = 4| 19,653
- ZUGAlY| 130,000& x6H x12& 9,360
- EE 50t
Jl2=2 2,144,360 x6F «40%*23] 10,293
ZR224Y 24,372
S EEE P
11,008 % 150%+2Al 2H+22 %2492 16,446
- AXRIRINLY
11,0083 *8AI 2H+6H x 152 7,926
S0z 845,310& x6H 5,072
o=l 1,320
- &Y= 140,000& 6 840
- 23 40,000 x6H x23] 480




